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�� !�� #"%$'&)(+*�,.-./�/�0�1*�$2 � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 4
�� 65� 27�8:9$�;=<>8�?@;=<>8A;B&)*�(+0C;=?D 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 E

�� 65� !�� GFH8�?+/�(+0>I�/�0�1*�$J � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 E
�� 65� 65� GFH8�K�$.0>/�0>*�$.8�?L � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 M��N
�� 65� OP GQ�R+8�STI.<>*�?VUW*�(+SX;=<>8�?Y � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 M�
5
�� 65� Z. G[@8�\�-.<C;=(+0>,�;=,] � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 M�AZ

�� 65� Z. !�� ^FH0>?+/�-.?+0�1*�$_ � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 M�
4
�� OP `FH0>?a&)(+0>b.-./�0>*�$.8�?c;=?+*�/�0C;=,�;=?^ � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 M�
4

�� OP !�� GFH0>?a&)(+0>b.-./�0�1*�$dI�;=();e-.$�;efhg  � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 M�
4
�� OP 65� GFH0>?a&)(+0>b.-./�0�1*�$dI�;=();e,.*�?cfhg  � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 M�
i
�� OP OP GFH0>?a&)(+0>b.-./�0>*�$.8�?V/�*�$
R+-.$'&j;=?k � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 M�
i
�� OP Z. Glm(+*�/�8�?+*�?n,.8�&)0>8�STI�*e,.0>?+/�(+8�&)*o � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 M��p
�� OP 64� Lgq<>\�-.$.*�?c,.8�&j;=<><>8�?V&P18�/�$.0>/�*�?r � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s5=N
�� OP EP utHI�8�();=/�0>*�$.8�?c8�<>8�ST8�$'&j;=<>8�?@/�*�$vI.(+*�/�8�?+*�?n8�?a&)*�/�1;=?a&)0>/�*�?w 3 � � � � � � � � � � 3 s5��
�� OP 6i� u7�8�/�-.8�$./�0C;=?n0>$.,.8�I�8�$.,.0>8�$'&)8�?�xy0>,�18�$'&)0>/A;=ST8�$'&)8�,.0>?a&)(+0>b.-�1z ,�;=?r � � � � � � � � � 3 s5��
�� OP pP GFH0>?a&)(+0>b.-./�0>*�$.8�?V,.83,.*�?@I.(+*�/�8�?+*�?{ 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s5BZ
�� OP |P GFH0>?a&)(+0>b.-./�0>*�$.8�?V/�*�$.,.0>/�0>*�$�;=<>8�?~}~lm(+*�/�8�?+*�?c,.8��r;=(+�=*��v � 3 � � � � � � � � � � 3 s5BZ

�� Z. 2�{*�ST8�$'&)*�?� � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s5BZ
�� Z. !�� u�{8�,.0C;_ � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s5BZ
�� Z. 65� G��-.$./�0>*�$.8�?@,.8���*�(+(+8�<C;=/�0�1*�$d�{��*��=;=(+0C;=$.�A;� � � � � � � 3 � � � � � � � � � � 3 s5�i

�� Z. 65� !�� �gq-P&)*�/�*��=;=(+0C;=$.�A;��v;=-P&)*�/�*�(+(+8�<C;=/�0�1*�$:�Plm(+*�/�8�?+*�?c/�*�$'&)0>$:-.*�?r � � � � 3 s5�i
�� Z. 65� 65� �gq-P&)*�/�*��=;=(+0C;=$.�A;��v;=-P&)*�/�*�(+(+8�<C;=/�0�1*�$:�Plm(+*�/�8�?+*�?@FH0>?+/�(+8�&)*�?� � � � � 3 s5=p
�� Z. 65� OP �"%$'&)8�(+/�*�(+(+8�<C;=/�0�1*�$v830>$'&)8�(+/�*��=;=(+0C;=$.�A;� � � � � 3 � � � � � � � � � � 3 �O�N

�� Z. OP u�{*�ST8�$'&)*�?@,.8�;=<!&)*e*�(+,.8�$J � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �O'5
�� Z. Z. Glm(+*�/�8�?+*�?ngq<>8A;B&)*�(+0>*�?c��*�STI.<>8%R+*�?� 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �O�O
�� Z. 64� Glm(+*�I.0>8�,�;=,.8�?@,.83<C;=?VUW-.$./�0>*�$.8�?@,.83/�*�(+(+8�<C;=/�0�1*�$# � � � � 3 � � � � � � � � � � 3 �O=Z

�� Z. 64� !�� ^lm(+*�I.0>8�,�;=,.8�?@,.83<C;�UW-.$./�0�1*�$v,.8�;=-P&)*�/�*�(+(+8�<C;=/�0�1*�$X � � � � � � � � � 3 �O=Z
�� Z. 64� 65� ^lm(+*�I.0>8�,�;=,.8�?@,.83<C;�UW-.$./�0�1*�$v,.830>$'&)8�(+/�*�(+(+8�<C;=/�0�1*�$  � � � � � � � � 3 �O'4

�� Z. EP Lgq<>\�-.$.*�?cI.(+*�/�8�?+*�?n8�?+I�8�/�0C;=<>8�?_ � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �O'4
�� Z. 6i� GQ�R+8�STI.<>*�?n � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �O'i

�� 64� `Qm?a&j;=/�0>*�$�;=(+8�0>,�;=,� � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �O�p
�� 64� !�� L"%,.8A;X��8�$.8�();=<� � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �O�p
�� 64� 65� GQm?a&j;=/�0>*�$�;=(+8�0>,�;=,v,.8��A8�(c*�(+,.8�$  3 � � � � � � � � � � 3 � � � � � � � � � � 3 �O�|
�� 64� OP GQm?a&j;=/�0>*�$�;=(+8�0>,�;=,v,.8�5B,.*�*�(+,.8�$� 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �O�|
�� 64� Z. GQm?a&j;=/�0>*�$�;=(+8�0>,�;=,v8�${?+8�$'&)0>,.*X;=STI.<>0>*X � � � � � � � � � 3 � � � � � � � � � � 3 �Z'N
�� 64� 64� GQm?a&j;=/�0>*�$�;=(+8�0>,�;=,v8�${?+8�$'&)0>,.*T8�?a&)(+0>/�&)*J � � � � � � � � 3 � � � � � � � � � � 3 �Z'N
�� 64� EP u��*�STI�;=();=/�0>*�$.8�?c830>STI.<>0>/A;=$./�0C;=?G 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z'N
�� 64� 6i� GQm?a&j;=/�0>*�$�;=(+8�0>,�;=,v/�*�$
R+-.$'&j;�8�${?+8�$'&)0>,.*X;=STI.<>0>*� � � � 3 � � � � � � � � � � 3 �Z.�
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�� 64� pP GQ�R+8�STI.<>*�?n � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z:5
�� EP `Qm(+\�*�,.0>/�0>,�;=,� � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z:5

�� EP !�� L"%,.8A;�\�8�$.8�();=<{ � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z:5
�� EP 65� Glm(+*�ST8�,.0>*�?V&)8�STI�*�();=<>8�?  � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z:5
�� EP OP GQm(+\�*�,.0>/�0>,�;=,�,.83<C;�ST8�,.0C;  � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z'O
�� EP Z. GQm(+\�*�,.0>/�0>,�;=,�,.83<C;�/�*�(+(+8�<C;=/�0�1*�$  3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z�Z
�� EP 64� GQ�R+8�STI.<>*�?n � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z�Z
�� EP EP Glm(+*�I.0>8�,�;=,.8�?@,.83<C;=?VUW-.$./�?n,.83/�*�(+(+8�<C;=/�,.8�l�gHQY7�g  � 3 � � � � � � � � � � 3 �Z�Z
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5� 65�  � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z:4

���
	�� ��� ��� 	y��
 � �'�W	 � 
���� 
r���
	���
���	�� ���
OP !�� #?+0>$vST8�ST*�(+0C;G � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z'E
OP 65� 27���"��  � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z'E
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Z. !�� 2�{*=&)0!�=;=/�0�1*�$v � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z:i
Z. 65� `FH8�$.?+0>,�;=,v8�?+I�8�/�&)();=< ,.83I�*=&)8�$./�0C;  � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 �Z:i

Z. 65� !�� Glm(+*�I.0>8�,�;=,.8�?� � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s4=N
Z. 65� 65� Lgq$./��.*T,.83b�;=$.,�;�8� :-.0!�=;=<>8�$'&)8] � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s4��
Z. 65� OP G[@-.0>,.*eb.<C;=$./�*  � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s4��

Z. OP #"%$'&)8�(+,.8�$.?+0>,�;=,r8�?+I�8�/�&)();=<� � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s4�5
Z. OP !�� u�{*=&)0!�=;=/�0�1*�$  � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s4�5
Z. OP 65� L"%$'&)8�(+,.8�$.?+0>,�;=,r8�?+I�8�/�&)();=<�830>$'&)8�(+/�*�(+(+8�<C;=/�0�1*�$� � � � � � 3 � � � � � � � � � � 3 s4=O
Z. OP OP Glm(+*�I.0>8�,�;=,.8�?� � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s4BZ

Z. Z. `Qm?a&)0>SX;=/�0�1*�$X}YST8�,.0>/�0�1*�$d,.8�<C;�UW-.$./�0�1*�$v,.83/�*�(+(+8�<C;=/�0�1*�$d��<C;�F�Q lJ � � � � � � � � � 3 s4�4
Z. 64� 27���"��  � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s4�4
Z. EP 27�8�/�-.8�$./�0C;=?q;=<>8A;B&)*�(+0C;=?  � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s4�4

Z. EP !�� "! 0>8�$.8�(� � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 s4�4
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�� !�� `[@8�\�0>?a&)(+*�?c,.8�&)8�$.?+0�1*�$v,.8�< 1z $.8A;���;P .0>�� :-.0>8�(+,�;Px.b� �,.8�(+8�/���;��  � 3 � � � � � � � � � � 3 i
�� 65� ��n$#ST0>$:-P&)* ,.8�(+8�\�0>?a&)(+* ,.8�<V$H1-.ST8�(+* ,.8v;=b�*�$�;=,.*�?/ :-.8�(+8� :-.0>8�(+8�$`?+8�(a��0>/�0>* ,.8�-.$�;

/�8�$'&)();=<�&)8�<>8�U=1*�$.0>/A;P �Qm${<C;/�.*�();eI.0>/�*.x.,�1z ;eg	�W0>�� :-.0>8�(+,�;��Y��,�1z ;�
��W,.8�(+8�/���;��  � � � � 3 i
�� OP ��n$#ST0>$:-P&)* ,.8�(+8�\�0>?a&)(+* ,.8�<V$H1-.ST8�(+* ,.8v;=b�*�$�;=,.*�?/ :-.8�(+8� :-.0>8�(+8�$`?+8�(a��0>/�0>* ,.8�-.$�;

/�8�$'&)();=<�&)8�<>8�U=1*�$.0>/A;P �Qm$ �.*�();=(+0>*e$.*�/�&)-.(+$.*.x.,�1z ;eg
�W0>�� :-.0>8�(+,�;�� ��,�1z ;�
��W,.8�(+8�/���;��  � 3 i
�� Z. `[@8�\�0>?a&)(+*r,.8d<C;{&)8�$.?+0�1*�$ ,.8d(+-.0>,.* 8�$#-.$#(+8�/�8�IP&)*�(�,.8dg�� /�-�;=$.,.* $.* ?+8�?+0>$'&)*�$.0>�A;

$.0>$.\�-.$�;e8�?a&j;=/�0�1*�$  3 � � � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 p
�� 64� `[@8�\�0>?a&)(+*�?n?+0>S�-.<!&y1;=$.8�*�?n,.8�b�;=<C;=$./�8��W/A;=-.,�;=< ,.8�8�$'&)();=,�;XST8�$.*�?q/A;=-.,�;=< ,.8�?);=<>0>,�;����

,.0!UW8�(+8�$./�0C;�,.83I.(+8�?+0�1*�${8�${-.$v&)();=ST*e,.83*�<>8�*�,.-./�&)*. y��8�$'&)0><>8��A;�[@8�I.?+*�< }��3l �� w � � � 3 |
�� EP 2��*�(+(+8�<C;=/�0�1*�$w8�$'&)(+8 b�;=<C;=$./�8r,.8r/A;=-.,�;=<n�2,.0!UW8�(+8�$./�0C; ,.8rI.(+8�?+0�1*�$D8�$�-.$D*�<>8�*�,.-./�&)*. 

��8�$'&)0><>8��A;e[@8�I.?+*�< }��3l �� { � � � � � � � � 3 � � � � � � � � � � 3 � � � � � � � � � � 3 |
�� 6i� `[@8�\�0>?a&)(+*�?�?+0>S�-.<!&y1;=$.8�*�?�,.8{I�*=&)8�$./�0C;=<c8�$�<>-.\';=(+8�?e��8�/�0>$.*�?X,.8{<C; /A;=b�8��A;P ���8�$'&)0><>8��A;
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